Appendix (1)

One - Abbreviations
Visible (V)
Hidden (H)
Risks (R)
Opportunities (O)
Contemporary (C)
Future (F)
Complexity low (CxL)
Complexity Medium (CxM)
. Complexity High (CxH)
10. Multi-Disciplinary Approach (MDA)
11. Inside Framework (IF)
12. Outside Framework (OF)
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Two- Possibilities of Spillovers: Equations & Formulas

1) Level One: Same position perspective + seeing it from 3 other

perspectives x 4 = 16 perspective
1. Y HR

. XHR -HO
. YHR - VR

. YHR -VO
. >HO

. YHO -»HR
Y»HO -»VO

. Y>HO -VR
. >VR

10. > VR -»HR
11. > VR -HO

12. > VR -»VO
13..V0

14. Y,VO0 -HR
15. > V0 -HO
16. > VO -»VR
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2) Level Two: 16 perspectives x 2 (for contemporary & future) =
32-time related perspectives

1. 2HR=>C



2. YHR -HO= C
3. YHR > VR> C
4. YHR -VO= C
5. YHO=> C

6. > HO->HR=> C
7. 2HO-VO= C
8. YHO-VR= C
9. YVR = C

10. ) VR->HR > C
11. > VR->HO=> C
12. >VR->VO= C
13.2V0> C

14. VO ->HR = C
15. VO -HO=> C
16. V0 -VR= C

17.YHR = F

18. > HR -»HO= F
19. ¥ HR - VR=> F
20.Y> HR -VO=> F
21.) HO=> F

22. > HO ->HR=> F
23.> HO -VO=> F
24.YHO -VR=> F
25.YVR = F

26.> VR ->HR = F
27. > VR -HO = F
28.>VR->VO = F
29.).V0 = F

30.>VO->HR = F
31. X V0O ->HO = F
32.>.V0 ->VR = F



3) Level Three: 32 times x 3 levels of Complexity Solutions “Law,
Medium & High” = 96

1. YHR> C & CxL

2. YHR -»HO= C & CxL
3. YHR - VR= C¢& CxL
4. YL HR -VO= C & CxL
5. YHO> C& CxL

6. Y HO -HR=> C & CxL
7. YHO->VO=> C & CxL
8. YHO->VR=> Cs CxL
9. YVR = C & CxL
10. Y, VR ->HR = C < CxL
11. > VR ->HO > C & CxL
12. VR ->VO = C & CxL
13.2 V0> C < CxL

14. VO »HR = C & CxL
15. > V0 -HO = C & CxL
16. ) V0O -VR = C & CxL

17.> HR > C & CxM

18. YHR »HO = C & CxM
19. > HR - VR=> C & CxM
20.> HR -VO > C & CxM
21.> HO = C & CxM
22.> HO » HR = C & CxM
23.> HO -VO > C & CxM
24.YHO -VR = C & CxM
25.> VR = C & CxM

26.Y VR -»HR > C o CxM
27. > VR ->HO = C & CxM
28.> VR ->VO > C & CxM
20 V0> C < CxM
30.2.V0 -»HR = C & CxM



31. X V0 -HO = C o CxM
32.2.V0 -VR=> C < CxM

33.>HR => C < CxH
34.>HR -HO= C & CxH
35.>HR - VR= C& CxH
36.>HR -VO = C & CxH
37.>HO = C < CxH
38.Y HO b HR = C & CxH
39.> HO -VO = C & CxH
40.> HO - VR = C & CxH
41.Y VR = C o CxH

42.Y VR - HR = C & CxH
43.> VR -HO = C < CxH
44.%VR->VO = C < CxH
45.2.V0 = C < CxH
46.>V0 - HR = C < CxH
47.%V0 -HO = C & CxH
48.>V0 VR = C & CxH

49.> HR = F & CxL
50.> HR -»HO = F & CxL
51. HR - VR= F & CxL
52. > HR -»VO = F & CxL
53.>.HO > F & CxL
54.>HO - HR = F & CxL
55. > HO -VO = F & CxL
56.Y HO - VR = F & CxL
57.>VR = F & CxL
58.> VR -HR = F & CxL
59.Y. VR -»HO = F & CxL
60.Y. VR ->VO = F & CxL
61.)V0 > F & CxL

62.> V0 -HR = F & CxL
63.).V0 -»HO = F & CxL



64.>. V0 -VR = F & CxL

65.> HR = F & CxM
66.> HR - HO=> F & CxM
67.> HR - VR=> F o CxM
68.> HR -VO > F & CxM
69.> HO > F & CxM
70.Y.HO > HR = F & CxM
71. 2, HO -»VO = F & CxM
72. > HO 5 VR = F & CxM
73.>. VR = F & CxM

74. Y. VR -HR = F & CxM
75. >.VR - HO = F & CxM
76. > VR -»VO = F & CxM
77.>V0 = F o CxM

78.Y V0 -»HR = F & CxM
79. > V0 -HO = F © CxM
80.> V0O -VR = F & CxM

81.> HR = F & CxH
82.> HR »HO = F < CxH
83.>) HR - VR=> F & CxH
84.> HR -VO = F & CxH
85.>HO = F & CxH
86.> HO - HR = F & CxH
87.> HO »VO = F & CxH
88.> HO - VR = F & CxH
89. VR = F s CxH
90.Y> VR »HR = F o CxH
91. VR -HO = F & CxH
92.> VR ->VO = F & CxH
93.>.V0 = F & CxH
94..V0 -HR = F & CxH
95.).V0 - HO = F & CxH
96.).V0 -VR = F & CxH



4) Level Four: 96 requires Multi-Disciplinary Approach = 96

1. YHR > C & CxL < MDA

2. YHR -»HO=> C & CxL & MDA
3. YHR -»VR= C & CxL e MDA
4. > HR -VO= C & CxL & MDA
5. YHO > C o CxL © MDA

6. YHO -HR > C & CxL & MDA
7. > HO->VO= C & CxL © MDA
8. YHO -VR > C & CxL © MDA
9. YVR = C & CxL < MDA
10. > VR -»HR = C & CxL & MDA
11. > VR -HO = C & CxL © MDA
12. > VR -»VO = C & CxL & MDA
13.YV0 > C < CxL © MDA
14. > VO »HR = C & CxL & MDA
15. V0 -»HO = C © CxL © MDA

16. > V0 -VR = C & CxL ©& MDA

17. > HR = C & CxM & MDA

18. X HR -»HO = C & CxM < MDA
19. > HR - VR = C & CxM < MDA
20.> HR -VO > C & (xM © MDA
21.Y> HO > C & CxM & MDA
22. > HO > HR = € & CxM < MDA
23. Y HO -VO = C & CxM © MDA
24.YHO VR = C & CxM < MDA

25.> VR = C & CxM © MDA



26.Y VR ->HR = C © CxM © MDA
27. ¥ VR -HO > C & CxM < MDA
28.> VR -»VO = C & CxM © MDA
29.Y V0 > C & CxM & MDA

30.2 V0 - HR = C & CxM & MDA
31. V0 -HO > C & CxM © MDA

32. > V0 -VR=> C o CxM © MDA

33.> HR = C & CxH © MDA
34.>HR -»HO = C & CxH & MDA
35.>HR - VR = C < CxH © MDA
36.> HR -VO = C & CxH © MDA
37.>HO > C o CxH © MDA
38.> HO - HR = C & CxH © MDA
39.Y.HO -VO = C & CxH & MDA
40.> HO VR = C & CxH © MDA
41.Y VR = C © CxH © MDA
42. ) VR -HR = C & CxH & MDA
43. 2. VR -HO = C & CxH & MDA
44.Y. VR -VO > C & CxH & MDA
45.2.V0 = C & CxH © MDA
46.).V0 - HR = C & CxH & MDA
47.>V0 -HO = € & CxH & MDA

48.YV0 -»VR = C & CxH © MDA

49.> HR = F & (CxL & MDA
50.> HR -»HO = F & CxL © MDA
51. Y HR - VR=> F & (CxL & MDA

52. > HR »VO > F & CxL © MDA



53.> HO > F & CxL & MDA

54.Y,HO - HR = F & CxL & MDA
55. > HO -VO = F © (CxL ©& MDA
56.Y HO - VR = F & (CxL & MDA
57.>VR = F & CxL © MDA

58.> VR -»HR = F & CxL © MDA
59. > VR -HO = F & CxL © MDA
60.> VR -»VO = F © CxL ©& MDA
61.) V0 > F & CxL © MDA

62.> V0 -HR = F & CxL © MDA
63.X V0 -HO = F & CxL © MDA

64.) V0 -VR = F & CxL & MDA

65.> HR = F & CxM © MDA
66.> HR - HO=> F & CxM < MDA
67.> HR - VR=> F o CxM < MDA
68.> HR »VO > F & CxM © MDA
69.> HO > F & (CxM © MDA
70. Y. HO - HR = F & CxM < MDA
71. >, HO -VO = F & CxM < MDA
72. > HO - VR = F & CxM & MDA
73.> VR = F o (CxM © MDA

74. Y. VR -»HR = F & CxM & MDA
75. > VR - HO = F & CxM © MDA
76. Y. VR -VO = F & CxM & MDA
77.%.V0 = F & CxM & MDA

78.> V0 -HR = F & CxM © MDA

79. > V0 -HO = F © CxM © MDA



80.)V0 -VR = F & (CxM < MDA

81.> HR = F © CxH © MDA
82.> HR -»HO > F & CxH © MDA
83.> HR - VR = F & CxH & MDA
84.> HR -VO = F & (CxH © MDA
85.> HO = F & CxH © MDA
86.> HO - HR = F © CxH © MDA
87.> HO -VO > F & CxH © MDA
88.> HO - VR = F & CxH © MDA
89. YVR = F & CxH © MDA
90.Y> VR -»HR = F © CxH © MDA
91. . VR -»HO = F & CxH © MDA
92.>.VR -VO = F & CxH & MDA
93.>V0 = F & (CxH & MDA
94.). V0 »HR = F & CxH & MDA
95.>.V0 -»HO = F & CxH & MDA

96.).V0 -VR = F & CxH & MDA

5) Level Five: 192 solutions if we see the spillovers possibilities
coming also from In- and Outside- the Framework

1. (QHR > € CxL © MDA) *IF

2. QCHR -»HO=>=> € © CxL © MDA) *IF
3. (O HR - VR= C & CxL © MDA) *IF
4. Y»HR -»VO=> C o CxL < MDA) *IF
5. YHO = C & CxL< MDA)*IF

6. YHO »HR = C & CxL © MDA) * IF

Y»HO -VO=> € s CxL © MDA) *IF

B



10.

11.

12.

13.

14.
15.
16.

17.

18.

19.

20.
21.
22,
23.
24.
25.
26.
27.
28.
29.
30.

31.

32.

33.
34.

YHO -VR = C © CxL & MDA) * IF
VR = C < CxL © MDA) *IF

> VR -HR = C & CxL © MDA) * IF
Y VR -HO = C & CxL © MDA) *IF
> VR ->VO = C & CxL e MDA)*IF
V0= C< CxL & MDA) *IF

> V0 -HR = C & CxL & MDA) *IF
Y V0 -HO = C & CxL < MDA) *IF

Y V0 -VR > C o CxL © MDA) *IF

YHR = C & CxM & MDA) * IF

YHR -»HO= C & CxM < MDA) * IF
YHR - VR=> C & CxM o MDA) *IF
Y»HR -»VO = C < CxM < MDA) *IF
YHO > C& CxM < MDA) *IF

> HO > HR = C & CxM & MDA) * IF
Y>HO -VO = C < (CxM < MDA) * IF
Y»HO -»VR > € < CxM < MDA) * IF
VR = C & CxM © MDA) *IF

VR -»HR > € < CxM © MDA) * IF
VR -»HO = C & CxM © MDA) * IF
QX VR->VO=> C o CxM < MDA) *IF
Vo= Ce CxM < MDA) * IF

(XV0 -»HR = C & CxM < MDA) * IF
V0 ->HO= €& CxM o MDA) *IF

Vo ->VR=> € CxM < MDA) *IF

HR = C & CxH © MDA) * IF
&

(O HR -HO= C & CxH < MDA) * IF



35.

36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.

47.

48.

49.

50.

51.

52.
53.
54.

55-

56.
57-
58.
59.
60.
61.

O HR - VR> C¢& CxHe MDA) * IF
O HR -VO > C & CxH e MDA) * IF
(O HO = C s CxH < MDA) *IF

(X HO - HR = C & CxH & MDA) * IF
X HO -VO = € CxH < MDA) *IF
QX HO »VR = C & CxH © MDA) * IF
QO VR = C & CxH & MDA) *IF

VR ->HR= C < CxH © MDA) * IF
VR -HO = C & CxH & MDA) * IF
VR -VO= C & CxH < MDA) * IF
Vo> C s CxH < MDA) *IF

V0 -»HR = C & CxH © MDA) * IF
V0 ->HO= € & CxH < MDA) * IF

X V0 -VR = C & CxH & MDA) * IF

(X HR = F & CxL & MDA) *IF

(O HR -HO= F < CxL & MDA) *IF
O HR - VR=> F & CxL < MDA) * IF
(O HR -VO > F & CxL & MDA) * IF
(X HO = F & CxL & MDA) *IF

(X HO »HR => F & CxL © MDA) * IF
QX HO -VO > F & CxL © MDA) * IF
Q. HO -VR = F & CxL & MDA) *IF
QO VR = F & CxL & MDA) *IF

VR ->HR = F & (CxL © MDA) *IF
VR ->HO = F & CxL & MDA) *IF
VR ->VO > F & CxL © MDA) * IF

YVO = F & CxL & MDA) * IF
(



62.
63.
64.

65.
66.

67.

68.
69.

70.

71.

792,

73-

74.
75.
76.

77
78.

79-

8o0.

81.
82.
83.
84.
85.
86.

87.

88.

V0 -HR = F & CxL & MDA) *IF
V0 -HO > F & CxL < MDA) * IF

V0 -VR = F & CxL & MDA) * IF

QO HR = F & CxM & MDA) *IF

(O HR -HO = F & CxM & MDA) * IF
QX HR - VR= F & CxM o MDA) *IF
QO HR -»VO = F & CxM © MDA) * IF
(X HO = F & CxM & MDA) * IF

> HO -»HR = F & CxM & MDA) * IF
X HO -VO > F & CxM & MDA) * IF
QX HO -VR = F & CxM & MDA) * IF
VR > Fs CxM & MDA) *IF
VR -HR = F & CxM & MDA) * IF
VR -HO = F & CxM & MDA) * IF
VR -VO = F & CxM © MDA) * IF
Q. V0 = F & CxM & MDA) * IF

(X V0 -HR = F & CxM & MDA) * IF
V0 -HO = F & CxM & MDA) * IF

V0 -VR = F & CxM & MDA) * IF

(X HR = F & CxH & MDA) *IF

O HR -»HO = F & CxH & MDA) *IF
O HR - VR=> F & CxH e MDA) * IF
Q. HR -»VO = F & CxH & MDA) * IF
(X HO = F & CxH & MDA) * IF

QX HO »HR = F & CxH © MDA) * IF
QX HO -VO = F & CxH © MDA) * IF

(X HO »VR = F & CxH & MDA) * IF



89. (VR = F & CxH e MDA) *IF

90. VR ->HR = F & CxH © MDA) * IF
91. (XVR-HO = F & CxH < MDA) * IF
92. QX VR -VO = F & CxH © MDA) * IF
93. (IVO = F & CxH o MDA) * IF

94. (VO -HR = F & CxH & MDA) * IF
95. V0 -»HO = F & CxH & MDA) *IF

96. V0 -»VR = F & CxH © MDA) * IF

97.(X HR > C & CxL & MDA) * OF
98.(2 HR »HO = C & CxL & MDA) * OF

99. X HR - VR= C & CxL & MDA) * OF

100. (X HR -VO = C & CxL e MDA) * OF
101. QO HO = C s CxL o MDA)*OF
102. (X HO »HR > C & CxL & MDA) * OF
103. QX HO -VO > C & CxL < MDA) * OF
104. (X HO -VR = C & CxL & MDA) * OF
105. QO VR = C & CxL & MDA) * OF

106. VR -HR = C & CxL & MDA) * OF
107. VR -HO = C & CxL © MDA) * OF
108. VR ->VO= C & CxL & MDA) * OF
109. V0= C < CxL & MDA) * OF

110. V0 ->HR > C & CxL < MDA) * OF

111.3 V0 -HO = C © CxL & MDA) * OF

112. V0 ->VR= €& CxL < MDA) * OF
113. (O HR = C S CxM & MDA) * OF
114. QX HR -HO= C & CxM & MDA) * OF

115. (O HR - VR= C & CxM < MDA) * OF



116. G HR -VO > C & CxM & MDA) * OF

117. QX HO = C & CxM < MDA) * OF

118. G HO »HR > C & CxM < MDA) * OF
119. QX HO -VO = € & CxM < MDA) * OF
120. (X HO -»VR = € & CxM < MDA) * OF
121. QX VR = C & CxM & MDA) * OF

122, VR -HR = C & CxM & MDA) * OF
123. (X VR ->HO = C & CxM < MDA) * OF
124. (VR »VO = C & CxM < MDA) * OF
125. (CV0 > C o CxM < MDA) * OFe MDA) * OF
126. V0o -HR = C & CxM < MDA) * OF
127. V0 ->HO = €< CxM < MDA) * OF
128. Vo -VR=> C & CxM < MDA) * OF
129. (O HR > C & CxH © MDA) * OF

130. QX HR -»HO=> C © CxH o MDA) * OF
131. O HR - VR=> C & CxH e MDA) * OF
132. (O HR -VO = C & CxH & MDA) * OF
133. (X HO = C & CxH < MDA) * OF

134. (Q HO - HR = € & CxH © MDA) * OF
135. QX HO -VO = € & CxH © MDA) * OF
136. (X HO -VR = € & CxH © MDA) * OF
137. VR > C & CxH & MDA MDA) * OF
138. QO VR -»HR = € & CxH & MDA) * OF
1309. QX VR -HO = C & CxH © MDA) * OF
140. QX VR -VO = C & CxH & MDA) * OF
141. Q. V0> C & CxH o MDA) * OF

142. V0 -HR > C & CxH © MDA) * OF



143.
144.

145.

146.

147.
148.

149.

150.
151.

152.

153.

154.
155.
156.

157.

158.

159.

160.

161.

162.
163.
164.

165.

166.

167.

168.

169.

V0 ->HO = €< CxH < MDA) * OF

V0o ->VR= C & CxH © MDA) * OF

Q. HR = F & CxL & MDA) * OF

X HR -HO=>= F < CxL © MDA) * OF
(O HR - VR= F & CxL & MDA) * OF
QO HR -»VO = F & CxL & MDA) * OF
(X HO = F & CxL © MDA) * OF

(> HO »HR > F & CxL © MDA) * OF
X HO -»VO > F & (CxL © MDA) * OF
(O HO »VR = F & CxL & MDA) * OF
O VR = F & CxL & MDA) * OF
(VR -»HR = F & CxL © MDA) * OF
(VR -HO = F & CxL & MDA) * OF
VR -VO = F & (CxL © MDA) * OF
V0 = F & CxL & MDA) * OF
(V0o -»HR = F & CxL © MDA) * OF
V0 -HO = F & CxL & MDA) * OF

V0 -VR = F & CxL & MDA) * OF

(X HR = F & CxM & MDA) * OF

O HR -HO = F & CxM & MDA) * OF

O HR - VR=> F & CxM & MDA) * OF

(O HR -»VO > F & CxM & MDA) * OF

O HO = F & CxM & MDA) * OF& MDA) * OF
(X HO »HR = F & CxM & MDA) * OF

QX HO -»VO = F & CxM © MDA) * OF

(X HO -»VR = F & CxM & MDA) * OF

Q. VR = F o (xM & MDA) * OF



170. VR ->HR = F & CxM < MDA) * OF

171.(X VR -HO = F & CxM & MDA) * OF

172. QX VR -VO = F & CxM & MDA) * OF
173. QX V0 = F & CxM & MDA) * OF

174. V0 -HR = F & CxM & MDA) * OF
175. V0 -HO > F & CxM & MDA) * OF
176. (LV0 VR = F & CxM < MDA) * OF
177. O HR > F & CxH © MDA) * OF

178. (L HR -HO = F < CxH < MDA) * OF
179. (LHR ->VR= F & CxH < MDA) * OF
180. (O HR -»VO = F & CxH & MDA) * OF
181. (Y HO = F & CxH & MDA) * OF

182. (O HO »HR > F & CxH © MDA) * OF
183. (X HO -VO > F & CxH © MDA) * OF
184. (X HO >VR = F & CxH & MDA) * OF
185. QO VR = F & CxH © MDA) * OF

186. VR -HR = F & CxH © MDA) * OF
187. (VR -HO = F & CxH & MDA) * OF
188. VR ->VO = F & CxH & MDA) * OF
189. Q. V0 = F & CxH © MDA) * OF

190. (V0 -HR = F & CxH & MDA) * OF
191. V0 -HO > F & CxH & MDA) * OF
192. V0 ->VR > F & CxH & MDA) * OF

6) Level Six: 480 solutions if we see the solutions coming also
from In- and Outside- the Framework, multiplied by 4 if we see
it from for corners.

1. QC HR > C © CxL © MDA) * OF Corner 1



2. CHR = C < CxL © MDA) * OF Corner 2
3. CHR = C & CxL & MDA) * OF Corner 3

4. CHR > C < CxL < MDA) * OF Corner 4
5. ...etc
480. (X V0 -VR = F & CxH © MDA) * OF Corner 4



